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THE OPEN UNIVERSITY OF SRI LANKA

BACHELOR OF MANAGEMENT STUDIES DEGREE PROGRAMME
LEVEL 03

FINAL EXAMINATION 2010

QUANTITATIVE TECHNIQUES FOR MANAGEMENT I-MCU 1207
DURATION THREE (03) HOURS _

DATE: 20.02.2010 TIME: 9.30 am-12.30 pm
Instructions ' ‘
Answer any five (5) questions. All questions carry equal marks.

Use of Non-programmable calculators is allowed.

Q 1 i) Simplify the following expression

(x+ yYax? %4qu+y2X2x—y)(xz -yz) .:-f

2x(3x-2y)

i) Solve the following equations
a) 2x° —11x+14=0
- b) x*+8x-5=0

iii)  Find the value of the following expression when x = 37and y=2

'4(4x2 + yz)(Zx—y)
\/9(x2 +4x+y2)

iv)  Solve the simultaneous equations - -

xP+y?=29
Sxy =50

v) The cost of one plantan and two buns is Rs. 39.00. The cost three
plantans and a bun is Rs.57.00. Find the price of a plantan and
bun.

2 i) Simplify the following expression

b%a% (a b’-)/J(a b)

(ab)/(a+b a+b

ii) | Solve the following expression without using log tables.
' Log(81) + Log(16)—~ Log(1)
Log(9)+ Log(4)




iji) I Log,(5x—2)-Log, 3=2 find x.

iv) a) [n an arithmetic progression if the first term is 6 and the

. common difference is 2—;—ﬁﬁd the sum of first ten terms.

b) In an arithmetic progression the first term is 5, the last term
is 32 and the sum of terms is 185, find the number of terms
in the series. _

v) a} Tn a geometric progression the first term is 10 and the -
common ratio is 2 find the eighth term.

b In a geometric progression if the first term is 5, the last
term is 3645 and the common ratio is 3. Find the sum of
firsi 5 terms.

Q 3 D Find the differential coefficient of the following functions with

_ respect fo "x".

x+3
2x—1

@ 22°+3x+7 O (222 +4)3-%) ©

11). Find the value of "x" that would minimize the function.
J (2x* —8x+5)
111  Find the integral of the following functions.

2x

a x2-9x+4 '
@ ®) 2x% +1

IV)  Solve the following definite integral

Iﬁ(xz +3x—4) e

2

Q (4)  Marks obtained by 30 students for statistics in their final examination 15 .
given below.

0 50 45 4 97 75
62 47 61 8 70 54
ss 76 93 8 71 56
G2 8 54 69 84 78
&© 72 58 54 79 67

®» Construct a grouped frequency distribution table for this data usin
40-49, 50-59, «.eenireene , 90-99 as classes 1imits. i
(i)  Construct a histogramme for these data.
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(iii)  Find the mode using the histogramme. What is the mode as per the
raw data?

(iv)  Construct an Ogive for these data.

(v)  Using the Ogive find the median of the data.

Q (5)  The performance of opening batsman Anil and Spinner Sunil at past eight
test -matches is given below.

Anil’s Performance Sunil’s Performance
MATCH | SCORE MATCH | SCORE
- 1 72 1 2
2 68 2 7
3 65 3 14
4 69 4 1
5 73 5 3
6 70 6 15 o
7 65 7 |
§ 63 § | 4 iy
1 oy
Total a1 N \’\fﬁ{;

() Calculate mean, standard deviation and coefficient of variance of
Anil’s score.

(i) Calculate mean, and coefficient of variation of Sunil’s score if the
standard deviation of Sunils wicket taking is 5.

(iii) Explain the performance of these two players using given data and
values computed by you above., '

Q 6 1 Explain the terms “Sampling” and “Census”

1) Why do people resort to sampling instead of carrying out a census?
Explain using suitable examples.

IIT)  Briefly explain the following sampling method high lighting their
advantages and disadvantages and situations where these methods
are suitable,

a. Simple random sampling

b. Stratified sampling

¢. Systematic sampling

d. Multi-stage sampling
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